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EXERCISE 14.2 (Page 245)
Question 1. The binod groups of 30 students of Class VI are recorded as follows
A B O O AB O A O B A O B 4 0, 0
A AB O A A O. 0O AB B A 0. B A B O
Represent this data in the form of a frequency distribution table. Which is the most ¢ ommon.

and
which is the rares:, blood group among these studenis? [NCERT Exem;;_:'w;
Solution: A, B. 0, 0. AB. 0, A, 0,B, A, 0.B,A,0,0,A,AB, 0, A, A, 0,0, AB, B, 4, ()
A B. O
| Blood group Tally marks Number of students
| A W 9 O
B | 6
o W 12
| AB I 3
| Total ~
| JU
From the above table. we have:

The most common blood group is O,
The rarest blood group is AB.



EXERCISE 14.2 (Page 249) |
Question 1. The blood groups of 30 studenis aof Class Vill are recorded as follows:
1 B O 0. AB 0, A 0. B 4 0. B, A 0, 0O,
4 AB O, 4. A 0, O, AB, B, A, 0. B, A, B O
Represent this data in the form of a frequency disiribution table. Which is the r:;zfgc-g ;}Emmgm .
vohich is the raresi, blood -gmnp among these students? /] Exemp @]

Solution: A. B. 0. 0, AB, 0, A, 0, B, A, 0, B, A. 0,0, A, AB, O, A, A, O, 0,AB,B,A 0.8
A B, O.

i'_ Blood group Tally marks Number of students |

| A il 9 |

| B M | 6 |
0 M I 12 |

{ AB l 3 'L
i Total 30 |]

From the above table, we have:
The most common blood group is O.
The rarest blood group is AB.
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: , distance (in km) of 40 enpineeye 1 : ,
v 2, Tht gineers from their residence 1o e ki O wer were
i ng# as . follows:

N
Q 12 17 /6 2

2. M N B B R wm g

cf @ Sroupe d frequency distribution table vig),

. i

f“;rr ¢ interval as 0-5 (3 not included). What
g wrﬂrfﬂfm”q

ot q: The given distance (in km) are:

golnti0
£ & W20
19 e 2 W
b & 4 &
o4 27 s

class size § Jor the data given above laking
main features do you observe from this tabular

x5y
X8R5 X
3R R
NS SN
g
AR

| Here, the observation with minimum and maximum value are 2 and 32 respectively.
" .. The first class interval is 0-5,
| . The classes are:
0-5, 5-10, 10-15, 15-20, 20-25, 25-30, 30-35.
The required table is:

Distance (in km) Tally marks Frequency
0-5 I 5
5-10 NI 11
E 10-15 W 18
15-20 11 9
j 20-25 | 1 |
: 25-30 | ! |
30-35 [ - .-
Total 40 I

From the above table we observe that:
(i) Frequencies of class interval 5-10
maximum number of engineers have

place. :
(ii) Frequencies of class intervals 25-30 and 25-30 are also equal, i.e. 1 each. It shows that
mmﬁlmum number of engineers have their residences at 20 to 30 km away from their work

place.
Question 3, The relative humidity (in %) of a certain city Sor a month of 30 days was as follows:

98.1 986 992 903 865 953 922 963 942 95l
80.2 923 971 935 927 951 972 933 952 973
962 021 &9 902 957 983 973 961 921 89

(i) Construct a grouped frequency distribution table with classes 34..35 35._33 ele.

and 10-15 are equal, i.e. 11 each. It shows that
their residences at 5 to 15 km away from their work

o e e
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on do vou think U data is about?

(it) Which month or seas

(iii) Whar is the range of this data? 1o
] n\.tlmn = a4,
Solution: Here, the minimum value ol the obs
~ - 99.2
The maximum value of the obsery itron
T i-B8, elc,
Some of the classes are Q4 86 and 80 R
“lass size = 8 ~ 2 or §8-86 = 2
Class size = 86-84 = £ or &
08— 100,

Qo the classes are: 84-86, 80- Q8. 8890, 90 02, s

(1) Thus, the required frequency table 1s:
Frequency

i Relative humidity (in %) T____J-i'l-'f_'"“rks Eqﬂﬂﬁhﬁﬁj
.I 84806 | I .
| 86-88 | ]
88-90 I 2
9092 If 2
92-54 M 7 |
94-96 M 6 _r
9698 Wl 7 |
98—-100 i 4 __“
Total ‘ 30

(ii) Since, the relative humidity is high during the rainy scason.
. The data appears to be taken in the rainy season.
(iif) Since, range = [Highest observation] — [Lowest observation]
= 99.2 — 849

= 143
Question 4. The heights of 50 students, measured to ﬁ:e nearest centimeires, have been found w be

as follows:
161 150 154 165 168 161 154 162 150 151
162 164  17] 165 158 154 156 172 160 170
153 159 161 170 162 165 166 168 165 164
154 152 153 156 158 162 160 161 173 166
161 159 162 167 168 159 158 153 154 139

= y a g’u!‘ped re e , 3 & 1 ]
: : j I f Ij'll ﬂ(.:} ‘ﬁSf”blffJan fﬂbk’. fa‘hilg -hI“g Cil

(it) What can you cancfude about t!:eu'- heights from the table?

Solution: (/) Here, the lowest value of the observation = 150
The Highest value of the observation = 173
. Classes are: 150-155, 155- 160, ... 170-175



— _ucigllﬁ _ ___._'I'ally marks _ﬁJﬂ*T\Iu_r;h;;fqt;d;;“
150155 L T 2
155160 N 9 1

160-165 )RR 14

| 165-170 LR 10
| 170-175 N I s i
T Total i __56_ - r
e —— R e <. & SRS

_.{:ﬂ Conclusions: More than 50% of

¢ students are shorter than 165 crm.
o 5. A study was conducted to find out (he concentration of sulphur dioxide in the air in
; per million (ppm) of a certain city. The datq obtained for 30 days is as follows:
N

003 008 008 009 (04 0.17
016 0.05 0.02 006 03158 0.20
0.1 008 012 013 022 0.07
0.08 0.01 010 006 0.00 0.18
0.1 0.07 005 007 001 0.04

(i) Make a grouped frequency distribution table Jor this data with class intervals as §.00-0.04
0.04-0.08, and so on.

(i) For how many days, was the concentration of sulphur dioxide more than 0.1] parts per
million?

Solution: (i) Cnnc;?:;?:em(linﬂfp;zg’h"r Tally marks Frequency

0.00-0.04 l s
0.04-0.08 W1 2
0.08-0.12 Il ;
0.12-0.16 I ; |
0.16-0.20 Il i
0.20-0.24 I -

Total s

(i) The concentration of sulphur dioxide more than 0.11 parts was for § days.
. Question g Three coins were tossed 30 times simultaneously. Each time the number of heady
| CUTing was pore

d down as follows:

0 ! 2 2 I 2 3 i 3 0

! 3 I Lia ooty B nidiind® oot b it e
3 0 0 1 I 2 73 bt SR

re . s Ry 'l IF'IE'-""' dral
e Jrequency distribution table for the data given above,
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S Jution: The required frequenc i i

¥
!
s B

Number of | Tally marks Frequency |
heads eccurring — ;

! I il 10

| 3 I 9

!

| 3 1) | 3 o
memsessmme= ———— 30 =

| Tﬁmlﬁ_ | —— e ]

= The value of & up 10 50 decimal places 15 L below.

' 6939937510

.‘5’462(54338327?5()2384!9?!

Queston
3. ftﬁ'f.‘??}ﬁ.ﬁjﬁz’!‘ﬂ??fx’j.?ﬁ
i) Make a frequency distribution of the digits from 0 10 9 fiﬁer the decimal poin;
(ii) What are the most and the least frequently occurring digits? [NCERT Exem?la.-:
'__—-_——-—_—; ———
Solution: () Digits Tally marks Frequency ]
h 0 === Il 2
1 it 5
2 il 5
= Ul 8
4 Il 4
5 i 5
g Il 4
s I 4
8 I :
2 W . i
= Total = -

(ii) The most frequently occurring digits are 3 and 9.

The least frequently occurring digit is 0.
Question 8. Thirty children were asked about the number of hours they watched TV programmes in

the previous week. The results were found as follows:

] 6 2 3 5 12 5 8 4 S
10 3 4 12 z 8 15 ! 17 6
3 2 8 5 9 6 8 7 14 12



(he lowest observation

ulmﬂ: . Llhqtitm = 17
s e 0-5. 5-10, 10-18,

) LRl
e e ¢ T qm“ -d luqmmy thulrlhmmn 1S 48 undﬁr
0 -!' 4 _— =
N _ ity
W ‘wmhu m’ hnun TaII:; mﬂrk_q Frequency
| i B e e smeprmacyp e . e
L
| b= g 10
| S50 M 13
'! 10-15 M 5
DFTGHI 10
4 1 Number of children who watched TV for 15 or more hours a week =
{u

were recorded as follows:

: 36 3F 32 22 41
g a7 25 44 34 33
30 31 37 34 46 3.8

pnstruct ;
qriing from the interval 2—2.5.

e highest observation = 4.6 years

e classes are: 2-2.5, 2.5-3.0, 3.0-3.5,
Thus, required grouped frequency distribution table is as under.

£3' 33
29 30 43
26 3.5

Jution: Here, the lowest observation = 2.2 years

. 4.5-5.0

34 38
32 30
2.6

3.2
3.2

el '.n

9 A company manufactures car batteries of a particular type. The lives (in years) of 4]

o grouped frequency distribution table for this data, using class intervals of siz2 0.3

Life of batteries (in years) Tally marks Frequencies

2.0-2.5 I 2
2.5-3.0 M | 6
3.0-3.5 M 1+
3.5-4.0 M 11
4.0-4.5 f 4
4.5-5.0 Il 3

Total 40
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NCERT TEXTBOOK QUESTIONS SOLVED
EXERCISE 14.3 (Page 258)

Question 1. 4 survey conducted hy an organisation Jor the cause of illness and dogyp, a
women between the ages 15-44 (in vears) worldwide, found the following figures (in %

Ll

Hir) i
Jn:{ '-rl'?:'l

S.No. | Causes Female f m_"
'8 'l Reproductive health conditions E
;‘ 2, [ Newropsychiatric conditions 25.4
<R Injuries 12.4
. 4. ‘ Cardiovascular conditions 4.3
| 3. Respiratory conditions 4.1
6. Other causes 22.0

(i) Represent the information given above graphically.
(i1} Which condition is the major cause of women's ill health and death worldwide
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ne required graphical representation 1s given helow:
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(i) The major cause of women’s ill health and death worldwide is ‘reproductive health
conditions’.

(iif) The two factors are:
(a) Deficiency disease
(h) Improper diets.

uestion 2. The following data on the number of girls (to the nearest ten) per thousand bovs in
ifferent sections of Indian society is given below.

—

Section Number of girls per thousand boys

R

Scheduled Caste (SC) 940

Scheduled Tribe (ST) 270 |
Non SC/ST 920 ‘

Nﬂn-backward districts 220
Rural L3I0

% : 01

(ﬁ Represent the above information by a bar graph.
ii

E
é Backward districts 930
5
H‘
B b g |
E In the classroom discuss what conclusions can be arrived ai Jrom the graph:
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10

29

ber of secals.

37

S mmae o St

Maximum num

Political party ———

25

(b) minimum in urban.

(7i) (a) Number of girls (per thousand boys) are maximum in scheduled trib

(7) The required bar graph is given below:

(i) Draw a bar graph to represent the polling results.
(ii) Which political party won the maximum number of seats?

Solution:
(i) The political party A won the

| Political party
| Seats won
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. he length of 40 leaves of
presie” y “-‘ .‘, L - f_ : h““'\. of @ plant are measwred corrvet to one millimene, und the
wained data is represenied or the following tabfe :
[ o

[. (1) I‘u-mj.- ( hl;.wn’:u:."mn o represent the given data [Hine: Fivst mahe the class btorvals
continions|
(i) Is there anv other suftahle sraphical representation for the same date’
iii) Is it correct to conclude that the mavimum number of leaves di 153 ot Song? Why?
l, _ f‘_‘_"_':’.‘ﬂ_'_f_f" mm) Nunher of loaves
;" 18126 o
| \ [27-13§ E
\ 136144 q
[45-153 o
l \ 154-162 ¢
| 163171 y |
172-180 > _

Solution: (i) The given frequency distribution is not continuous. Therefore,
it to be continuous distribution.

127-126

first wo have o modity

L-os

2 s

*. The modified class intervals are:
(118 = 0.5)-(126 + 0.5) = 117.5-126.5
(127 — 0.5)135 + 0.5) = 126.5-135.5
(136 — 0.5)-(144 + 0.5) = 135.5-144.5
(145 - 0.5)-(153 + 0.5) = 144.5-153.5
(154 — 0.5)-(162 + 0.5) = 153.5-162.5
(163 — 0.5)A171 + 0.5) = 162.5-171.5
(172 - 0.5)-(180 + 0.5) = 171.5—}31]..5

Thus, the modified frequency distribution 1s:

Length (in mm) Number of leaves
117.5-126.5 3
126.5-135.5 5
135.5-144.5 9
144.5-153.5 12
153.5-162.5 5
162.5-17L.5 4
171.5-180.5 2

Now. the required histogram of the above frequency distribution is as shown here:
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Apres Since. the scale on the x-axis starts at 117.5 (and not at the origin), a break, i.c., @ Kink —A/—, near
the origin signify that this graph is drawn with a scale beginning at 117.5, and not at the ongm.

(i) Yes, other suitable graphical representation is a ‘frequency polygon’
(iif) No, it is not a correct statement. The maximum number of leaves are not 153 mm long

0
only, rather they are from 145 mm to 153 mm long.

Question 5. The following table gives the life times of 400 neon lamps.

J_I.;_'fe time (in hours) Number of lamps
300-400 14
400-500) 56
500-600 60
600-700 &6
700-800 74
800-900 62
900-1000 48

(i) Represent the given information with the help of a histogram.
(ii) How many lamps have a life time of more than 700 hours?
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(if) Number of lamps having life time more than 700 hours = 74 + 6



